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Now get ) is a power series about
2- = - converging 12-1 > / ¥1 , and since
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The function GCZI is

① Analytic in 0512-1<1%1 .

② The singularity at 2-=L is removable
.

③ The next largest pole of bothfcz) & Inez ) is at 2- = Iq .
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This proves the result - ☒x



Three ( Jacobi 's identity for (q ; 97£ )
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(g ;qz? = I C- 1) " (anti ) of
"'+"1- for
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Proof : From JTPI
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Let 2-→ i on both sides . Then
RHS = (of;q7§ .
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n=
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because by JTPI ,
a
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- - •

Hence by L' top ital 's rule
,

LHS = Ling , § + 1) English
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Now of by q to complete the proof -☒


